Part 2 (total 40 pts)
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1) What is the chemical formula ofl sulfate? s
54
(Show work-write the charges & show how they<criss-cross.) pts)
2
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2) What is the chemical name of SO37? (5 pts)
/
Ny + W = covalen]

SulFur Freoxide

3) Calcium chloride reacts with potassium sulfate according
to the following imbalanced chemical equation:

CaCl, +{0K,S0, =====>/7/CaSO, + [2]KCl

f/'&— 2~k 2-f /-5 Y—of
a) What type of reaction is this? WA ﬂlpéicwehf'

b) Balance the equation. Write in the correct coefficients. Whatis
the sum of the coefficients {countingboth sides of the equation)?

\g- {10 pts}

c) Do an “atom count”. What is the total number of atoms of
reactants? /@

4) A student measured the % waterin a hydrate to be 8.5
%, but the accepted value 11.0%. What is the %error?

Write the formula. Plug in the numbers. Write the calculated answer. Circle your final

{precise) answer.{5pts+ 5 pts}) ﬁXL
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